Fraction of v<0.25 Cross Section to Total Cross Section for Antineutrino

GENIEV
0 (v<0.25, Transverse, Total

M

o (v<0.25, Transverse, W:1.014, A=5.7, B:0'33)/0Total
0 (v<0.25, Transverse, NQ=1.014, A=6.3, B=0.35)/c

o (v<0.25, no transverse, M =1.014)/c
0 (v<0.25, no transverse, M = 1.30)/o

=1.014, A=6.0, B=0.34)/o

Total
Total

....................................................................................................................

.......................................................................

..............................................................................................

.........................................................................................................................




	Contents
	Page 1


